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1. Integral can be valued using numerical methods of integration. Please use different.

numerical methods to approximate the value of a definite integral. Evaluate the integral
5]
'[ la’x, by dividing the interval [1,5] into 4 subintervals using
X

(é) Riemann sum [5 points]

(b) Midpoint rule [5 points]

(c) the Trapezoidal rule [5 points]
(d) the Simpson’s rule [5 points]

2. Based on the change of variables: x=rcos&, y=rsin@, show the following partial
differential equation [10 points] '
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3. (a) Solve the differential equation %=ky(L— y) where y>0, L—y>0 and L is a

constant. {10 points]

(b) Solve the differential equation x)'—y=x, y(l) =5.[10 points]
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a. Find a and b such that % = 0.03@:—1-0.02% [10 points]
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b. Find j |2-be| f(z.t)dz  [10 points]
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5. f(z,5)= 1 e ¥and F()= Iﬂi’-ﬂdz for t>0, find E [10 points]
N2#m R dt

1 7

6.Find [-=—dx  [10 points]
u\fl"xz '
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7.Given x=|x, |,x =[x x, x|ix=|20];e=|1|;4=/100 200 O |, find the
X, 30 1 =50 0 300

maximum of x Ax with constrains xuz=20and xe=1. [10 points]
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